1 Selection

1. 1 vertex

2. |vtz,| < 80 cm

3. pions: DCA(R) < 3.0 cm, || < 0.9, pr > 0.2 GeV, Ny > 25
4. at least 3 pions with TOF hit

5. nested loop over pions: at least one pion w/ TOF, 2 pions w/ zero net
charges.

6. kaons: DCAdaughters < 1 5cm, DC Abeemine < 1.5 cm, pointing Angle Hypo >
0.925

2 Efficiency as a function of transverse momen-
tum pr

positive probe, efficiency as a function of the pT
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negative probe, efficiency as a function of the pT
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Figure 1: Efficiency as a function of pr for positive (top) and negative (bottom)
probe.



3 Efficiency as a function of pseudorapidity 7

positive probe, efficiency as a function of the eta
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negative probe, efficiency as a function of the eta
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Figure 2: Efficiency as a function of 7 for positive (top) and negative (bottom)
probe.



